TRUCKPARTS

Volvo Aero Bumper Spoiler

Art: OSTTPVA3

Installation instruction

Item PartNr.

1 10-02-051
10-07-101
11-05-006
12-15-006
12-15-008
12-25-009

SO h WN

Description Qty.
Bout M6x25 8.8 8
RVS Bolkopschroef M8x25 8.8 ISO7380E RVS 9
Borgmoer M6 DIN 985 4
Carrosseriering M6x18 12
Carrosseriering M8 24x8,4x2 9
Rubberring 25x8x5 3

Polyester on top

\

OSTTPVA3_IM_A1003



